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1. Write simple equation for the following

verbal statement

The sum of five times of x and 3 is 28.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_4vyEYdes2mme

° Watch Video Solution

2. Write simple equation for the following
verbal statement

Taking away 7 from p gives 21

° Watch Video Solution

3. Write simple equation for the following
verbal statement

if you add one third to m then you get 25.

| e |


https://dl.doubtnut.com/l/_4vyEYdes2mme
https://dl.doubtnut.com/l/_mNwW7dtSPQ1d
https://dl.doubtnut.com/l/_RKSLwGfS0Pxm

& Watch Video Solution I

4. Write simple equation for the following
verbal statement
some of angles x,(x+20) together is a straight

angle

o Watch Video Solution

5. Write simple equation for the following

verbal statement


https://dl.doubtnut.com/l/_RKSLwGfS0Pxm
https://dl.doubtnut.com/l/_Fd1mjiLKVYr3
https://dl.doubtnut.com/l/_iPdM8lj7736T

perimeter of rectangle whose length is 2 more

than its width is 16 cm.

° Watch Video Solution

6. Write the following equation in the
statement from

X+4=9

° Watch Video Solution



https://dl.doubtnut.com/l/_iPdM8lj7736T
https://dl.doubtnut.com/l/_H8ExBZb5nCgW

7. Write the following equation in the
statement from
2y=15
o Watch Video Solution
8. Write the following equation in the

statement from

3m-13=25

o Watch Video Solution



https://dl.doubtnut.com/l/_sIpIzKNcD3aB
https://dl.doubtnut.com/l/_2en15SfGTHoT
https://dl.doubtnut.com/l/_6TcpoVykB9L3

9. Write the following equation in the
statement from

n s
4

o Watch Video Solution

10. Write the equation of the following
mathematical statements

A number x decreased by 5 is 14

o Watch Video Solution



https://dl.doubtnut.com/l/_6TcpoVykB9L3
https://dl.doubtnut.com/l/_lEiKDatDTemJ
https://dl.doubtnut.com/l/_D85JImiKQbfu

1. Write the equation of the following
mathematical statements

Eight times of y. plus 3 is -5

o Watch Video Solution

12. Write the equation of the following
mathematical statements

If you add one fourth of z to 3 you get 7

o Watch Video Solution



https://dl.doubtnut.com/l/_D85JImiKQbfu
https://dl.doubtnut.com/l/_o6EkRfmbp6y1

13. Write the equation of the following
mathematical statements

If you take away 5 from 3 times of m you get 11

o Watch Video Solution

14. Write the equation of the following
mathematical statements

Sum of angles 2x,(x-30) is a right angle.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZuGDTk0LuWjc
https://dl.doubtnut.com/l/_HKjYXg634h5H
https://dl.doubtnut.com/l/_zJFQPYADrH2w

15. Write the equation of the following
mathematical statements

The perimeter of a square of side'a'is 14 m

o Watch Video Solution

16. Write the following equations in statement
from.

m-5=12

o Watch Video Solution



https://dl.doubtnut.com/l/_zJFQPYADrH2w
https://dl.doubtnut.com/l/_5PxbSr3D1Knj
https://dl.doubtnut.com/l/_P1APrAOpbx60

17. Write the following equations in statement
from.

Ze4
3

o Watch Video Solution

18. Write the following equations in statement
from.

4x+7=15

o Watch Video Solution



https://dl.doubtnut.com/l/_P1APrAOpbx60
https://dl.doubtnut.com/l/_GvWNcOSzvso2

19. Write the following equations in statement
from.

2-3y=11

o Watch Video Solution

20. Solve the following equations using trial
and error method.

3x-7=5

o Watch Video Solution



https://dl.doubtnut.com/l/_xSpQSgkO0ySD
https://dl.doubtnut.com/l/_hncOF39akdJb
https://dl.doubtnut.com/l/_yba8LQH2ADJU

21. Solve the following equations using trial
and error method.

5-y=-1

o Watch Video Solution

22. Give the steps you will use to seperate the
variables and then solve the equations

5m/3=10

o Watch Video Solution



https://dl.doubtnut.com/l/_yba8LQH2ADJU
https://dl.doubtnut.com/l/_WRB36oTvV9pq
https://dl.doubtnut.com/l/_sTlcrCVvTXyS

23. Give the steps you will use to seperate the
variables and then solve the equations

4n-23=13

o Watch Video Solution

24. Give the steps you will use to seperate the
variables and then solve the equations

-5+3x=16

o Watch Video Solution



https://dl.doubtnut.com/l/_sTlcrCVvTXyS
https://dl.doubtnut.com/l/_uPf2mMYryTgZ

25. Give the steps you will use to seperate the
variables and then solve the equations

2(y-1)=8

o Watch Video Solution

26. Solve the following simple equations and
check the result.

3x=18

o Watch Video Solution



https://dl.doubtnut.com/l/_wiPApubYWpOW
https://dl.doubtnut.com/l/_pWgrpke412cK
https://dl.doubtnut.com/l/_3YL9kzqhxUUw

27. Solve the following simple equations and

check the result.

b/7=-2

o Watch Video Solution

28. Solve the following simple equations and
check the result.

-2x=-10

o Watch Video Solution



https://dl.doubtnut.com/l/_3YL9kzqhxUUw
https://dl.doubtnut.com/l/_zpkW5lewauvv
https://dl.doubtnut.com/l/_NsXzRK1kKsDW

29. Solve the following simple equations and
check the result.

10+6a=40

o Watch Video Solution

30. Solve the following simple equations and
check the result.

-/m=21

o Watch Video Solution



https://dl.doubtnut.com/l/_NsXzRK1kKsDW
https://dl.doubtnut.com/l/_PyustCEnJUoX

31. Solve the following simple equations and
check the result.

4p+7=-21

o Watch Video Solution

32. Solve the following simple equations and
check the result.

3x-1/3=5

o Watch Video Solution



https://dl.doubtnut.com/l/_Pp72wBxUoe1g
https://dl.doubtnut.com/l/_Tzv7979xqc2m
https://dl.doubtnut.com/l/_YCZ9oFuEaZuW

33. Solve the following simple equations and
check the result.

18-7n=-3

o Watch Video Solution

34. Solve the following simple equations and
check the result.

3(k+4)=21

o Watch Video Solution



https://dl.doubtnut.com/l/_YCZ9oFuEaZuW
https://dl.doubtnut.com/l/_9qtNi96JrNbx
https://dl.doubtnut.com/l/_6AvzuuS01uiq

35. Solve the following simple equations and
check the result.

9(a+1)+2=11

° Watch Video Solution

36. Solve the puzzle using simple equations



https://dl.doubtnut.com/l/_6AvzuuS01uiq
https://dl.doubtnut.com/l/_yCXKFiCbMdo8

° Watch Video Solution

37.Find three equivalent equations having the

same solution x=-1

o Watch Video Solution

38. Show the following equations and check
the result.

5x-17=18

o Watch Video Solution



https://dl.doubtnut.com/l/_yCXKFiCbMdo8
https://dl.doubtnut.com/l/_emCJQoLMNqFE
https://dl.doubtnut.com/l/_rgxsVTupvKdb

39. Show the following equations and check
the result.

29-7y=1

o Watch Video Solution

40. Show the following equations and check
the result.

a-2.3=1.5

o Watch Video Solution



https://dl.doubtnut.com/l/_rgxsVTupvKdb
https://dl.doubtnut.com/l/_5NqK5fHEe9uy
https://dl.doubtnut.com/l/_NfmN9xQA9tHD

41. Show the following equations and check

the result.
1 7
b+ (3)5 =1

o Watch Video Solution

42. Show the following equations and check
the result.

7p/10+9=15

o Watch Video Solution



https://dl.doubtnut.com/l/_Au0cmDzPU7jr
https://dl.doubtnut.com/l/_ge0KKA7k1rjk
https://dl.doubtnut.com/l/_KTOOuKBGHEZJ

43. Show the following equations and check
the result.

6(q-5)=42

o Watch Video Solution

44. Show the following equations and check
the result.

-3(m+5)+1=13

o Watch Video Solution



https://dl.doubtnut.com/l/_KTOOuKBGHEZJ
https://dl.doubtnut.com/l/_aFla7urV0srS
https://dl.doubtnut.com/l/_iVjvPW0pS5xL

45. Show the following equations and check
the result.

3(p-7)-4=5

o Watch Video Solution

46. Show the following equations and check
the result.

5(9-3)-3(9-2)=0

o Watch Video Solution



https://dl.doubtnut.com/l/_iVjvPW0pS5xL
https://dl.doubtnut.com/l/_HNbY4IB9ki91

47. Show the following equations and check
the result.

0.4x-0.3x-1.2=0.6

o Watch Video Solution

48. Show the following equations and check
the result.

4(3y+4)=7.6

o Watch Video Solution



https://dl.doubtnut.com/l/_IOvI19k0o8dM
https://dl.doubtnut.com/l/_ZRLQSdUHDwJP
https://dl.doubtnut.com/l/_Fiyq4RFGQbq8

49. Show the following equations and check
the result.

20-(2r-5)=25

o Watch Video Solution

50. Show the following equations and check
the result.

3(5-t)-2(t-2)=-1

o Watch Video Solution



https://dl.doubtnut.com/l/_Fiyq4RFGQbq8
https://dl.doubtnut.com/l/_paBpZUH6fP2w
https://dl.doubtnut.com/l/_j6EjIPLZygWu

51. Show the following equations and check
the result.

3(2k+1)-2(k-5)-5(5-2k)=16

o Watch Video Solution

52. Show the following equations and check
the result.

3m/4-5m-3/4=12

o Watch Video Solution



https://dl.doubtnut.com/l/_j6EjIPLZygWu
https://dl.doubtnut.com/l/_IXpn4dSqjNll

53. Show the following equations and check
the result.

4n/5+n/4-n/2=11/10

o Watch Video Solution

54. Show the following equations and check
the result.

x/2-4/5+x/5+3x/10=1/5

o Watch Video Solution



https://dl.doubtnut.com/l/_9HxLICQAiOYV
https://dl.doubtnut.com/l/_j2L8m7pEooN8
https://dl.doubtnut.com/l/_MId33LDyE984

55. Write any three equivalent equation having

the solution x=2

o Watch Video Solution

56. Write any three equivalent equation having

the solution a=-5

o Watch Video Solution



https://dl.doubtnut.com/l/_MId33LDyE984
https://dl.doubtnut.com/l/_yo5DoQ8VTpeY

57.Find the value of variable x from the below

diagram
. '[___ *
!
k Ll’ :
x
1
i . !
LR .
- e e ————— .

perimeter =36 cm

o Watch Video Solution



https://dl.doubtnut.com/l/_0nAOPdRVq2md

58. The sum of twice a number and 4 is 80,find

the number.

o Watch Video Solution

59. The difference between a number and one -

fourth of itself is 24, find the number.

o Watch Video Solution



https://dl.doubtnut.com/l/_lnASFb6kLs19
https://dl.doubtnut.com/l/_CcvmT5EQ4wst

60. Find the value of x from the adjecent

diagram

° Watch Video Solution



https://dl.doubtnut.com/l/_zPsRqB66Ql1N

61. To convert temperature fro fahrenhite to

centigrade we us the formula
9

(F —32) = 5 x CIfC = —40°C then find

F

° Watch Video Solution

62. Rahim has rs x from which he spends rs 6 if
twice of the money left with him is rs 86 then

find x

° Watch Video Solution



https://dl.doubtnut.com/l/_AVmWoyU7TmMI
https://dl.doubtnut.com/l/_E3JrNpidWEJI

63. The difference between two numbers is 7
six times the smaller plus the larger is 77.find

the numbers

° Watch Video Solution

64. The sum of three consecutive even

numbers is 54. Find the numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_E3JrNpidWEJI
https://dl.doubtnut.com/l/_CqGAh8vbq6b5
https://dl.doubtnut.com/l/_CSxUP8md9KMq
https://dl.doubtnut.com/l/_0yn8fIXqaQoO

65. In a class of 48 students the number of
girls is one third the number of boys.Find the

number of girls and boys in the class.

o Watch Video Solution

66. The present ages of mary and joseph are in
the ratio 5:3 . after 3 years sum of their ages is

38.find their present ages.

o Watch Video Solution



https://dl.doubtnut.com/l/_0yn8fIXqaQoO
https://dl.doubtnut.com/l/_XRGBwtlqzmAB

67. A sum off 500 is in the form of
denominations of ¥5 and 10. If the to tal
number of notes is 90 find the num- ber of
notes of each denomination: (Hint: Let the
number of 5 rupee notes be 'x', then number

of 10 rupee notes =90 - x)

o Watch Video Solution

68. John and ismail donated some money to

the relief fund. the amount paid by ismail is


https://dl.doubtnut.com/l/_EgagTmphf66w
https://dl.doubtnut.com/l/_xcwgfIfR8EAd

rs85 more than twice that of john. if the total
money paid by them is rs4000, then find the

amount of money donated by john.

o Watch Video Solution

69. Length of a rectangle is 4m less than 3
times its breath if the perimeter of rectangle

is 32 m. then find its length and breadth.

o Watch Video Solution



https://dl.doubtnut.com/l/_xcwgfIfR8EAd
https://dl.doubtnut.com/l/_h5Mg2zSUdPes

70. A bag contains 5 red balls and some blue
balls, If the probability of drawing a blue ball is
double that of a red ball, Find the number of

blue balls in the bag.

o Watch Video Solution

71. Which of the following numbers satisfy the
equation

-6+m=-10

A2


https://dl.doubtnut.com/l/_bYQusHsMUoqN
https://dl.doubtnut.com/l/_4yH4u7GOcimG

Answer: C

o Watch Video Solution

72.The equation having -2 as solution is

A. x+2=5

B. 7+3x=1


https://dl.doubtnut.com/l/_4yH4u7GOcimG
https://dl.doubtnut.com/l/_LSrB1Kdub5Pr

C. 2x+3=7

D. 2(x+1)=4

Answer: B

o Watch Video Solution

73. If a and b are positive integers then the
solution of the equation of the equation ax=b

willl always be a

A. positive number


https://dl.doubtnut.com/l/_LSrB1Kdub5Pr
https://dl.doubtnut.com/l/_yiJvqQH1Ief5

B. negative number

C.1

D.O

Answer: A

o Watch Video Solution

74. The equation which can 't be solved in

integr is

A. 2(x-3)=10


https://dl.doubtnut.com/l/_yiJvqQH1Ief5
https://dl.doubtnut.com/l/_lGK8Kl5Nx59m

B. x/3=5

C. 5-3m=1

D. 2k+1=1

Answer: C

o Watch Video Solution

75. Which of the following is not allowed in a

given equation?


https://dl.doubtnut.com/l/_lGK8Kl5Nx59m
https://dl.doubtnut.com/l/_uRNe9eAr4fF4

A. Adding the same number to both sides

of the equation

B. Subtracting the same number from both

sides of the equation

C. Multiplying both sides of the equation

by the same non zero number

D. Dividing both sides of the equation by

the same number

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_uRNe9eAr4fF4

76. If 2y-1=5 then the value of 5y+3 is

o Watch Video Solution

77. Changing of term from one side of

equation to other side is called

° Watch Video Solution



https://dl.doubtnut.com/l/_uRNe9eAr4fF4
https://dl.doubtnut.com/l/_V3b53cxSw7PC
https://dl.doubtnut.com/l/_vPQ9NhKfwik8

78. If the sum of two numbers is 60 one is

thrice the other then the equation formed is

o Watch Video Solution

79. if x is a natural number then the solution

of x-8 =8 is

o Watch Video Solution



https://dl.doubtnut.com/l/_UCHWbwxOYOck
https://dl.doubtnut.com/l/_JdwX897BDSj7

80. 13 subtracted from twice of a number gives

3 then the number

° Watch Video Solution

81. Check whether the value given in the
brackets is a solution to the given equation or
not

2n+5=19: n=7

o Watch Video Solution



https://dl.doubtnut.com/l/_uT2WjktehUrK
https://dl.doubtnut.com/l/_ouYb3iDAIfby
https://dl.doubtnut.com/l/_dd8HDj3D7X7D

82. Check whether the value given in the
brackets is a solution to the given equation or
not

3m/5-7=1:(m=10)

o Watch Video Solution

83. Solve 5-2k=-3 using trial and error method

o Watch Video Solution



https://dl.doubtnut.com/l/_dd8HDj3D7X7D
https://dl.doubtnut.com/l/_1U1syGlLlZVA

84. write the following equations in
mathematical statement from

2m+7=21

o Watch Video Solution

85. write the following equations in

mathematical statement from

n/7=4

o Watch Video Solution



https://dl.doubtnut.com/l/_8SAISfWVgUMR
https://dl.doubtnut.com/l/_JeNn3JmGUfD6
https://dl.doubtnut.com/l/_3iTkuleXzcHt

86. Give the steps you will use to seperate the
variables and then solve the equation

7(x-3)=28

o Watch Video Solution

87. Give the steps you will use to seperate the
variables and then solve the equation

8y-9=15

o Watch Video Solution



https://dl.doubtnut.com/l/_3iTkuleXzcHt
https://dl.doubtnut.com/l/_yG3r9ePdOLmS
https://dl.doubtnut.com/l/_jSBlSwUJAJGX

88. Solve the following equations and check
the result (method of transposition)

9(a+3)+7=22

o Watch Video Solution

89. Solve the following equations and check
the result (method of transposition)

25=18-7(b-6)

o Watch Video Solution



https://dl.doubtnut.com/l/_jSBlSwUJAJGX
https://dl.doubtnut.com/l/_oUlnWwKECL8b

90. Six times a number is 72.find the number.

o Watch Video Solution

91. Three fourth of a number is more than one

fourth of same number by 2. find the number.

° Watch Video Solution

92. In the adjacent figure the perimeter of the

square is 40 m .then find x.


https://dl.doubtnut.com/l/_xzQSnPES1ugz
https://dl.doubtnut.com/l/_GARwVJ4JF6bx
https://dl.doubtnut.com/l/_a3SBZiE4IgUo

[
I
|
|
|

=
|
|
|

|
| e

L

I
-
I

‘ {SI_-IF) m

]
.——..l_l..l.l..l.-..-..-.l..-._.-..l.h

° Watch Video Solution

93. Jeevan is 3 years younger than his brother
sasi. if the sum of their present age is 19 years

whar are their present ages ?

° Watch Video Solution



https://dl.doubtnut.com/l/_a3SBZiE4IgUo
https://dl.doubtnut.com/l/_3X10Lrzd1tAC

94. The length of a rectangle is 20 m more
than its width.if the perimeter of the rectangle
is 100m then find the length and breadth of

rectangle.

o Watch Video Solution

95. In a family the consumption of rice is 4
times that of wheat. the total consumption of

the two cereals in a month is 30 kg .find the


https://dl.doubtnut.com/l/_3X10Lrzd1tAC
https://dl.doubtnut.com/l/_5bKzWY1Xxi70
https://dl.doubtnut.com/l/_NPsyGNgX9biK

quantities of rice and wheat consumed in the

family,

o Watch Video Solution

96. The teacher tells the students in class that
the highest marks obtained by a student in
the class is 7 more than twice the lowest
marks. if the highest mark is 93 then what is

the lowest mark ?

o Watch Video Solution



https://dl.doubtnut.com/l/_NPsyGNgX9biK
https://dl.doubtnut.com/l/_mmopZCbIwRm0
https://dl.doubtnut.com/l/_lUDjJW52Ttfh

4
97. A man travelled = of his journey by train

1
- km by bus and the remaining 16 km by auto

.what is the length of his total journey ?

o Watch Video Solution

98. In the questions given below equations
have become wrong due to wrong order of
signs (+, —, X, =, =) choose the
correct order of signs from the given

alternatives given under each questions so


https://dl.doubtnut.com/l/_lUDjJW52Ttfh
https://dl.doubtnut.com/l/_W1d1UDpLoXVx

that the equation becomes right

T+2=2x3
A =, X, +
B.+, +, X
C. =, + +
D.+, X, =

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_W1d1UDpLoXVx

99. In the questions given below equations
have become wrong due to wrong order of
signs (+, —, X, =, =) choose the
correct order of signs from the given
alternatives given under each questions so

that the equation becomes right

T+2x6=20
A =, X, +
B.+, +, X


https://dl.doubtnut.com/l/_7db0ljZm3H61

Answer: C

° Watch Video Solution

100. In the questions given below equations
have become wrong due to wrong order of
signs (+, —, X, =, =) choose the
correct order of signs from the given

alternatives given under each questions so


https://dl.doubtnut.com/l/_7db0ljZm3H61
https://dl.doubtnut.com/l/_YVTOs0ZvNVh8

that the equation becomes right

1b+-5=2x1

A+, X, =

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_YVTOs0ZvNVh8

101. In the questions given below equations
have become wrong due to wrong order of
signs (+, —, X, =, =) choose the
correct order of signs from the given
alternatives given under each questions so
that the equation becomes right

6=3-6-12


https://dl.doubtnut.com/l/_oieH6LnOF3ZA

Answer: D

° Watch Video Solution

102. In the questions given below equations
have become wrong due to wrong order of
signs (+, —, X, =, =) choose the
correct order of signs from the given

alternatives given under each questions so


https://dl.doubtnut.com/l/_oieH6LnOF3ZA
https://dl.doubtnut.com/l/_blU2kPpaFlwU

that the equation becomes right

3+1+-4=16

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_blU2kPpaFlwU

103. In the questions given below equations
have become wrong due to wrong order of
signs (+, —, X, =, =) choose the
correct order of signs from the given
alternatives given under each questions so

that the equation becomes right

8+-4=2+1
A e :7+
B. -, =, X


https://dl.doubtnut.com/l/_ozqmDKUB9zxz

Answer: B

° Watch Video Solution

104. In the questions given below equations
have become wrong due to wrong order of
signs (+, —, X, =, =) choose the
correct order of signs from the given

alternatives given under each questions so


https://dl.doubtnut.com/l/_ozqmDKUB9zxz
https://dl.doubtnut.com/l/_A03yEehbhOgM

that the equation becomes right

2X24+2=2

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_A03yEehbhOgM

105. In the questions given below equations
have become wrong due to wrong order of
signs (+, —, X, =, =) choose the
correct order of signs from the given
alternatives given under each questions so
that the equation becomes right

5-6+8=3


https://dl.doubtnut.com/l/_BTvX4o2FGKBZ

Answer: A

° Watch Video Solution

106. In the questions given below equations
have become wrong due to wrong order of
signs (+, —, X, =, =) choose the
correct order of signs from the given

alternatives given under each questions so


https://dl.doubtnut.com/l/_BTvX4o2FGKBZ
https://dl.doubtnut.com/l/_tprGjEBhig4T

that the equation becomes right

8 +2=2x8

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_tprGjEBhig4T

107. In the questions given below equations
have become wrong due to wrong order of
signs (+, —, X, =, =) choose the
correct order of signs from the given
alternatives given under each questions so
that the equation becomes right

3=3-7+0


https://dl.doubtnut.com/l/_Q6eyjKbt8T6z

Answer: A

o Watch Video Solution

108. Find the value of x if% — 1= % + 4

A. 20
B.10
C.30

D. 40


https://dl.doubtnut.com/l/_Q6eyjKbt8T6z
https://dl.doubtnut.com/l/_spqkCu1hhGbI

Answer: C

o Watch Video Solution

109. solve 6x+18=8x+12

Answer: C


https://dl.doubtnut.com/l/_spqkCu1hhGbI
https://dl.doubtnut.com/l/_0n49CY9zxvWD

° Watch Video Solution

110. Solve 5(x-3)=30

A. Xx=6

B. x=3

C.x=12

D. x=9

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_0n49CY9zxvWD
https://dl.doubtnut.com/l/_IzMt2JcA6Pl0

1M1. What is the value of p in the given

equation 8(2p-5)-6(3p-7)=1?

A2

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_IzMt2JcA6Pl0
https://dl.doubtnut.com/l/_AhQebMuZ9CkO
https://dl.doubtnut.com/l/_lDHXQjno81OO

112. Find the variable value y in the equation

0.6y+0.8=0.56y+2.32.

A. 34

B.36

C.38

D. 40

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_lDHXQjno81OO
https://dl.doubtnut.com/l/_e1Zx4ZTaEK7u

9 11
1M3.If —— = — — then (2) =
z 5 S —

A.45/11
B. 11/45
C.-45/M

D.-11/45

Answer: D

o Watch Video Solution

114. 3(x-3)=5(2x+1),then x=


https://dl.doubtnut.com/l/_e1Zx4ZTaEK7u
https://dl.doubtnut.com/l/_6zyyLr8WJWrK

Al

Answer: C

° Watch Video Solution

115. The solution to the equation 8-5(x-5)=2x-6

IS


https://dl.doubtnut.com/l/_6zyyLr8WJWrK
https://dl.doubtnut.com/l/_qcyQU024zVYq

A. 44387

B.2

C.39/7

D.6

Answer: C

o Watch Video Solution

116. For what value of 'x' makes the equation

true? %+6=8


https://dl.doubtnut.com/l/_qcyQU024zVYq
https://dl.doubtnut.com/l/_lw2db0iwnGJt

A2

B. 66

C.18

D. 126

Answer: C

° Watch Video Solution

117. If x+4=9,then the value of x=

A4


https://dl.doubtnut.com/l/_lw2db0iwnGJt
https://dl.doubtnut.com/l/_Rbb1CpA5IqoS

B.9

C.5

D. 13

Answer: C

o Watch Video Solution

118. If 2x+5=k,then x=

A K

5

K -5



https://dl.doubtnut.com/l/_Rbb1CpA5IqoS
https://dl.doubtnut.com/l/_VYjcPcQARomB

Answer: B

° Watch Video Solution

119. The value of 'x' which satisfies equation is

5x-7=8

A2

B.3


https://dl.doubtnut.com/l/_VYjcPcQARomB
https://dl.doubtnut.com/l/_iWv9cCwJnbSo

C.4

Answer: B

° Watch Video Solution

120. If 3x=20,then x=

A 17

B.-0.35

C.20/3


https://dl.doubtnut.com/l/_iWv9cCwJnbSo
https://dl.doubtnut.com/l/_QiNa7cwTLGen

D.6

Answer: C

° Watch Video Solution

121. What are the two steps involved in solving

the equation 15x+5=267

A.Adding 4 on both sides and then

multiplyaing both sides by 15


https://dl.doubtnut.com/l/_QiNa7cwTLGen
https://dl.doubtnut.com/l/_R0G8eIK7xNnb

B. Adding 4 on the LHS and dividing by 15

on the RHS

C. Subtracting 4 from both the sides and

then dividing bothe sides by 15 in the

RHS

D. Substacting 4 from both the sides and

then dividing both sides by 15

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_R0G8eIK7xNnb
https://dl.doubtnut.com/l/_zUE94EJuODAH

122. Which of the following equation can be

constructed with x=2?

A. 3x-4=2

B. 3x+4=2

C.3x-4=8

D. 3x+4=8

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_zUE94EJuODAH
https://dl.doubtnut.com/l/_e5gBwZ8Y7IJ9

123. On transposing terms from one side of

the equation to the other which of these

changes takes place ?

A. Addition becomes subtraction

B. Subtraction becomes addition

C. Multiplication becomes division

D. Above all

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_e5gBwZ8Y7IJ9
https://dl.doubtnut.com/l/_IJa4eTLIFlSt

124.a # bbut ac = bc, then guessc = 7

Al

B.b

D.O

Answer: D

o Watch Video Solution

125. 0.5m=0.65,then m=


https://dl.doubtnut.com/l/_IJa4eTLIFlSt
https://dl.doubtnut.com/l/_T5aaNc1UCqPm

A3

B.30

C.13

D. 13

Answer: C

o Watch Video Solution

126. Which of the following equation can be

constructed with x=5?


https://dl.doubtnut.com/l/_T5aaNc1UCqPm
https://dl.doubtnut.com/l/_uq7XWzj9a3T9

A. 2x-4=1

B. 3x-5=10

C. 3x-4=9

D. 12x-5=25

Answer: B

° Watch Video Solution

127. A number when multiplied by 5 gives by 80

what is that number?


https://dl.doubtnut.com/l/_uq7XWzj9a3T9
https://dl.doubtnut.com/l/_nS1trDvuM3Jh

A.16

B.17

C.18

D. 20

Answer: A

o Watch Video Solution

128. Twice a number when increased by 4 gives

48. what is that number?


https://dl.doubtnut.com/l/_nS1trDvuM3Jh
https://dl.doubtnut.com/l/_RMJH4tnEGYrv

A 11

B. 22

C.33

D. 40

Answer: B

° Watch Video Solution

129. On adding 6 to the thrice of a number

gives 30. what is the 1/4 th of that number?


https://dl.doubtnut.com/l/_RMJH4tnEGYrv
https://dl.doubtnut.com/l/_4pkW6hSDqvTV

Al

B.2

C.3

D. 4

Answer: B

o Watch Video Solution

130. 3 is subtracted from 3/2 of a number

results in 12. what is that number?


https://dl.doubtnut.com/l/_4pkW6hSDqvTV
https://dl.doubtnut.com/l/_NEMjpnzwfj4l

A 14

B.18

C.10

D. 16

Answer: C

o Watch Video Solution

131. The sum of three times of a number and 11

is 32 find the number


https://dl.doubtnut.com/l/_NEMjpnzwfj4l
https://dl.doubtnut.com/l/_BLDb4YLAlDFS

A7

B.6

C. 21

D.10

Answer: A

° Watch Video Solution

132. Write the statement for the sum of three

times of x and 11 is 32 in the form of equation.


https://dl.doubtnut.com/l/_BLDb4YLAlDFS
https://dl.doubtnut.com/l/_z05Gd9uDTmfn

A. 3X+11=32

B. 3X-11=-34

C. 5X-7=2

D. None

Answer: A

o Watch Video Solution

133. Write the statement for "if you subtract 5
from 6 times a number we get seven in the

from of equation.


https://dl.doubtnut.com/l/_z05Gd9uDTmfn
https://dl.doubtnut.com/l/_XBNy8fFkcW9b

A. 6X-5=7

B. 3X-11=34

C. 5X-7=2

D. None

Answer: A

° Watch Video Solution

134.Find a number which when multiplied by 7

and then reduced by 3 is equal to 53.


https://dl.doubtnut.com/l/_XBNy8fFkcW9b
https://dl.doubtnut.com/l/_T1GJDC5GILHj

A7

B.6

C.8

D.10

Answer: C

o Watch Video Solution

135. Total number of boys and girls in a class is
52. If the number of girls is 10 more than that

of boys, find the number of boys.


https://dl.doubtnut.com/l/_T1GJDC5GILHj
https://dl.doubtnut.com/l/_JYlnhO5Tc8Qm

A. 2x/10=52

B. 2x-10=52

C. x+10=52

D. 2x+10=52

Answer: D

° Watch Video Solution

136. If we add 7 to twice a number, we get 49.

Find the number.


https://dl.doubtnut.com/l/_JYlnhO5Tc8Qm
https://dl.doubtnut.com/l/_7dcH3V0R0IEe

A. 2x-7=49

B. 2x+7=49

C. (-2x-49=7)

D. 2x+49=7

Answer: B

0 Watch Video Solution

137. The equation 2x=6 can further be

expressed as


https://dl.doubtnut.com/l/_7dcH3V0R0IEe
https://dl.doubtnut.com/l/_BgofSWKDCPwS

A. Xx=6-2

B. x=6x2

C. x=6/2

D. x=6+2

Answer: C

° Watch Video Solution

138. Write the information given in the

adjacent figure in the form of an equation


https://dl.doubtnut.com/l/_BgofSWKDCPwS
https://dl.doubtnut.com/l/_5MaQTGXV6X66

A. x=3

B. x-3=10

C. x+3=10

D. x=10/3

Answer: C

° View Text Solution

139. The sum of three consecutive integers is

75,which is the largest among them?


https://dl.doubtnut.com/l/_5MaQTGXV6X66
https://dl.doubtnut.com/l/_VkDjTEA7LqBr

A. 25

B. 23

C.24

D. 26

Answer: D

o Watch Video Solution

140. The length of the sides of a triangle are

(a+1)cm,(2a-1)cm,(3a+2)cm and for what value

of "a" is the perimeter of the triangle is 26cm


https://dl.doubtnut.com/l/_VkDjTEA7LqBr
https://dl.doubtnut.com/l/_3NRKYCHST1bP

A2

B.3

C.4

D.6

Answer: C

° Watch Video Solution

141. The sum of the ages of three persons is 40
years . What will be the sum of their ages after

3 years


https://dl.doubtnut.com/l/_3NRKYCHST1bP
https://dl.doubtnut.com/l/_IjtGx67l9o17

A. 49

B. 39

C. 59

D. 69

Answer: A

° Watch Video Solution

142. The teacher tells the class that the

highest marks obtained by a student in her


https://dl.doubtnut.com/l/_IjtGx67l9o17
https://dl.doubtnut.com/l/_2JQjJsllgEf4

class is twice the lowest marks plus 7. The

highest mark is 87. What is the lowest mark?

A. 20

B. 80

C.40

D. 30

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_2JQjJsllgEf4

143. If k-7=16 then the value of 8k+72=

A. 256

B.372

C. 252

D. 200

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_hEz1lZ4rXUqS

144. Two supplementary angles differ by 20°

What is the measure of smaller angle?

A.40°

B.80°

C.100°

D.30°

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_tkuiRZEntoqN
https://dl.doubtnut.com/l/_Kdz8TvLsc0um

145. The length of a rectangle is two times of

its breadth. Its perimeter is 60m. What is the

length?

A.10m

B.15m

C.20m

D. 24m

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Kdz8TvLsc0um
https://dl.doubtnut.com/l/_IgIyY82mXjVX

146. Two complementary angles are differ by

20°. What is the measure of larger angle?

A.35°

B.45°

C.55°

D. 65°

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_IgIyY82mXjVX

147. Sum of two numbers is 21.0ne of the

number is twice the other ,then those

numbers are ......

A. 3,18

B.7,14

C. 13,7

D. 5,16

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_saQyPnJfXFja

148. If k+7=16 then the value of 8k-72 is

A.O

B.1

C. 12

D. 56

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_19mMF0efGeri

149. Express the diagram in the form of an

equation.
™
o
L o
A. 4x+2x=90°

B. 4x+2x=180°

C. 4x+2x=270°

D. 4x+2x=360"


https://dl.doubtnut.com/l/_U3WpAZdBlmIU

Answer: B

o Watch Video Solution

150. What is the relation betwwen lenght and

breadth of a recangle?

= LS

. N N L
s S "’
™ . " : [ ,
i
Tk

A. (A) length is double that of breadth

B. (B) length is triple thar of breadth


https://dl.doubtnut.com/l/_U3WpAZdBlmIU
https://dl.doubtnut.com/l/_G0cV6qGsYEoz

C. (C) breadth is half of length

D. (D) Aand C

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_G0cV6qGsYEoz

151. Write the equation for the adjacent figure.

A. 3x-2x=180°

B. 3x+2x=180°

C. 3x-2x=90°


https://dl.doubtnut.com/l/_20lX4TiveT4L

D. 3x+2x=90°

Answer: D

o Watch Video Solution

The symbol to be placed in the box "

152..

x+5

given below, for the value x =4,

10

' 4



https://dl.doubtnut.com/l/_20lX4TiveT4L
https://dl.doubtnut.com/l/_5wGlp6hnadQZ

D. <

Answer: D

° Watch Video Solution

153. AB=25cm,BC=10cm.To find AC What is the

equation here?

A. 25+10=x

B. 10-25=x


https://dl.doubtnut.com/l/_5wGlp6hnadQZ
https://dl.doubtnut.com/l/_HzPfgoChVrUJ

C. x-10=25

D. x+10=25

Answer: D

° Watch Video Solution

154. An equation in one variable with highest

power is known as........

o Watch Video Solution



https://dl.doubtnut.com/l/_HzPfgoChVrUJ
https://dl.doubtnut.com/l/_EAXvIUfmxjxS

155. An open sentance which contain sign

equality is called......

o Watch Video Solution

156. Changing of term from one side of

equation to other side is called

o Watch Video Solution



https://dl.doubtnut.com/l/_j2Jard95LgIn
https://dl.doubtnut.com/l/_lYOPVujrwrMd

157. Write tha equation for "The sum of 3 times

of pand 5is 12".........

o Watch Video Solution

158. The value of the variable for which

equation becomes true is called.............

o Watch Video Solution



https://dl.doubtnut.com/l/_KMLUKxPgjuz5
https://dl.doubtnut.com/l/_e8LENqQ6aENu

159. Write the equation for "If you take away 7

from 5 times of m, you get 28"............

o Watch Video Solution

160. Write 4x+7=15 in statement form..........

o Watch Video Solution

161. If 5m/3 =5 then the value of m=.............

o Watch Video Solution



https://dl.doubtnut.com/l/_yHVDQzaY73wD
https://dl.doubtnut.com/l/_6ssEI6lhWwdX
https://dl.doubtnut.com/l/_eJiHZ08nBSoC

162. If 3x- 1/3 =5 then the value of x=..................

o Watch Video Solution

163. One third of a number plus 5 is 8 write the

statement in the form an equation .........

o Watch Video Solution

164. 4x+5= 65 then the value of X is ...



https://dl.doubtnut.com/l/_eJiHZ08nBSoC
https://dl.doubtnut.com/l/_IE8CvWVUsuvB
https://dl.doubtnut.com/l/_QFirtjZaPag3
https://dl.doubtnut.com/l/_7wZiNdoav6sX

o Watch Video Solution

165. The sum of three times of a number and 11

is 32 find the number

o Watch Video Solution

166. Express adjacent figure into simple

equation ...


https://dl.doubtnut.com/l/_7wZiNdoav6sX
https://dl.doubtnut.com/l/_JbJg9KNo1bt1
https://dl.doubtnut.com/l/_WouIydgoQMQv

o Watch Video Solution

167. A number is multiplied by 5 given 60 then

the numberiis ................

o Watch Video Solution



https://dl.doubtnut.com/l/_WouIydgoQMQv
https://dl.doubtnut.com/l/_wnpv21MtAbEc

168. The sum of two consecutive integers is 25

then they are ...

o Watch Video Solution

169. Six times of a numbers is 54 then the

numbers is ...

o Watch Video Solution



https://dl.doubtnut.com/l/_pnvgtfyTiLJA
https://dl.doubtnut.com/l/_FAPxVoPXMhai

170. When we transpose 'X' quantity
becomes..........

o Watch Video Solution

171. When we transpose '-' quantity

becomes...............

o Watch Video Solution

172. match the following



https://dl.doubtnut.com/l/_PQT2ABR25ZPS
https://dl.doubtnut.com/l/_TOVeZtvVDk94
https://dl.doubtnut.com/l/_61XUKZnBC2R8

View Text Solution

173. The Sum of five times of x and 3 is 28-

Write simple equation .

o Watch Video Solution

174."y-7=10" convert into statement.

o Watch Video Solution



https://dl.doubtnut.com/l/_61XUKZnBC2R8
https://dl.doubtnut.com/l/_C6HSNnhwMJ0v
https://dl.doubtnut.com/l/_U9NPYHVzCyHm

175. Write the equivalent equation for x-7=4

o Watch Video Solution

176. Six times of a number 6 is 66. Find the

number.

° Watch Video Solution

177. What is a simple equation?

° Watch Video Solution



https://dl.doubtnut.com/l/_1F48ghm1BznA
https://dl.doubtnut.com/l/_mXNGx2pEBAU2
https://dl.doubtnut.com/l/_XK51nTAog7dK

178. 2m+7=21 is true form =7

o Watch Video Solution

179. The value of 35° C in kelvin is 308 K.

o Watch Video Solution

180. 3x-4=40 is true for x =20.

o Watch Video Solution



https://dl.doubtnut.com/l/_XK51nTAog7dK
https://dl.doubtnut.com/l/_ua4QxN9qM5XP
https://dl.doubtnut.com/l/_NIibUDRKNmpA
https://dl.doubtnut.com/l/_2eKW1DBVIVH0

181. Write the information given in the pic true
in the form of an equation.Also find 'y' in the

following figure.

k - 13cm B

° Watch Video Solution

182. Write the informatin given in the pic true

in the form of an equartion.Also find 'x' in the


https://dl.doubtnut.com/l/_2eKW1DBVIVH0
https://dl.doubtnut.com/l/_ZnYnM8uNKzIz
https://dl.doubtnut.com/l/_v7yhAGGbv98A

following figure.

o Watch Video Solution

183. Check whether the value given in the
brackets is a solution to the given equation or
not:

n+5=19(n=1)

O Watch Video Solution



https://dl.doubtnut.com/l/_v7yhAGGbv98A
https://dl.doubtnut.com/l/_5E6mPeS1yQb9

184. Check whether the value given in the
brackets is a solution to the given equation or
not:

7n+5=19 (n=-2)

o Watch Video Solution

185. Solve the following equation:

12p-5=25

o Watch Video Solution



https://dl.doubtnut.com/l/_bvorWtrf2DMX
https://dl.doubtnut.com/l/_NGHkTfC2XL68
https://dl.doubtnut.com/l/_lxXhkb64Y9Iz

186. Solve the following equation:

3p-10=5

o Watch Video Solution

187. Solve equation 2y+5/2=37/2

o Watch Video Solution

188. Solve the following equations:

4+5(p-1)=34

| &


https://dl.doubtnut.com/l/_lxXhkb64Y9Iz
https://dl.doubtnut.com/l/_dvBB7yEtpGaz
https://dl.doubtnut.com/l/_WmD5xed087G3

| ¥ Watch Video Solution |

189. Solve the following equations:

4=5(p-2)

o Watch Video Solution

190. When you multiply a number by 6 and
subtract 5 from the product you get 7. Can you

tell what the number is ?

o Watch Video Solution



https://dl.doubtnut.com/l/_WmD5xed087G3
https://dl.doubtnut.com/l/_u8uztU8ovfjQ
https://dl.doubtnut.com/l/_8QVp9y8MUL5n

191. The teacher tells the class that the highest
marks obtained by a student in her class is
twice the lowest marks plus 7. The highest

mark is 87. What is the lowest mark?

o Watch Video Solution

192. Irfan says that he has 7 marbles more
than five times the marbles Parmit has Irfan
has 37 marbles. How many marbles does

Parmit have?

| & I


https://dl.doubtnut.com/l/_r2F6V0NzEwWi
https://dl.doubtnut.com/l/_HyTFcAmqZnPp

| ¥ Watch Video Solution |

193. Pant scored twice as many runs as Rohit.
Together, ther runs fell two short of a double

century. How many runs did each on score?

o Watch Video Solution

194. Lakshmi's father is 49 years old. He is 4
years older than three times Lakshmi's

age.What is Lakshmi's age?

o Watch Video Solution



https://dl.doubtnut.com/l/_HyTFcAmqZnPp
https://dl.doubtnut.com/l/_ZN43S14d6K4o
https://dl.doubtnut.com/l/_xcMtHYFToR2J

195. Sum of three consecutive integers is 24.

Find the integers.

o Watch Video Solution

196. Solve the following equation by traial and
error method:

5p+2=17

o Watch Video Solution



https://dl.doubtnut.com/l/_xcMtHYFToR2J
https://dl.doubtnut.com/l/_EMWXP1jMbAgp
https://dl.doubtnut.com/l/_rlj6nhbwXgkY
https://dl.doubtnut.com/l/_sdHU9F0nxWJL

197. Solve the following equation by traial and
error method:

3m-14=4

o Watch Video Solution

198. Write equation for the following
statements:

The sum of number x and 4 is 9.

o Watch Video Solution



https://dl.doubtnut.com/l/_sdHU9F0nxWJL
https://dl.doubtnut.com/l/_FJ74Ig71qO1H
https://dl.doubtnut.com/l/_qGFeulDnJmDl

199. Write equation for the following
statements:

2 subtracted fromyis 8

o Watch Video Solution

200. Write equation for the following
statements:

Ten times a is 70

o Watch Video Solution



https://dl.doubtnut.com/l/_qGFeulDnJmDl
https://dl.doubtnut.com/l/_HGWX22EGuZRs

201. Write equation for the following
statements:

The numbers b divided by 5 gives 6

o Watch Video Solution

202. Write equation for the following
statements:

Three-fourth of t is 15

o Watch Video Solution



https://dl.doubtnut.com/l/_wQQPxwZVB0uA
https://dl.doubtnut.com/l/_UbsdrRaVdt2G
https://dl.doubtnut.com/l/_e9ZWTCSF48xN

203. Write equation for the following
statements:
Ten times a is 73 Seven times m plus 7 gets

you 77

° Watch Video Solution

204. Write equation for the following
statements

One-fourth of a number 'X' minus 4 gives 4

° Watch Video Solution



https://dl.doubtnut.com/l/_e9ZWTCSF48xN
https://dl.doubtnut.com/l/_RASaVIEvbb3H

205. Write equation for the following
statements

If you take away 6 from 6 times y, you get 60

A.you get 60.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_julnG2cYj3v7

206. Write equation for the following
statements

If you add 3 to one- third of z, you get 30.

o Watch Video Solution

207. Write the following equation in
statements froms:

p+4=15

o Watch Video Solution



https://dl.doubtnut.com/l/_CBckOleYbCWx
https://dl.doubtnut.com/l/_t837nkUIA1tn
https://dl.doubtnut.com/l/_hNukBkmkOrue

208. Write the following equation in
statements froms:

m-/=3

o Watch Video Solution

209. Write the following equation in

statements froms:

2m=7

o Watch Video Solution



https://dl.doubtnut.com/l/_hNukBkmkOrue
https://dl.doubtnut.com/l/_Hpnlr9Byiwhe
https://dl.doubtnut.com/l/_PPdaXGwy8LdU

210. Write the following equation in
statements froms:

m/5=3

o Watch Video Solution

211. Write the following equation in

statements froms:

3m/5=6

o Watch Video Solution



https://dl.doubtnut.com/l/_PPdaXGwy8LdU
https://dl.doubtnut.com/l/_tzObUKfqMg8m

212. Write the following equation in
statements froms:

3p+4=25

o Watch Video Solution

213. Write the following equation in statement
forms:

4p-2=18

o Watch Video Solution



https://dl.doubtnut.com/l/_pPOG3vWiRw2Y
https://dl.doubtnut.com/l/_xvcYBP2qVfA2
https://dl.doubtnut.com/l/_5BdPKQReQNDT

214. Write the following equation in statement
forms:

p/2+2=8

o Watch Video Solution

215. In an isosceles triangle, the base angles
are equal.The vertex angle is 40° .What are the
base angles of the triangles? (Remember the

sum of three angles of a triangle is 180°)

° Watch Video Solution



https://dl.doubtnut.com/l/_5BdPKQReQNDT
https://dl.doubtnut.com/l/_kG4cereGxd3Z

216. Sum of two numbers is 95. If one exceeds

the other by 3, find the numbers.

° Watch Video Solution

217. A sum of ¥3000 is to be given in the form
of 63 prizes. If the prize money is either ¥100

or ¥25. Find the number of prizes of each type.

° Watch Video Solution



https://dl.doubtnut.com/l/_P5lq6QXvhvxI
https://dl.doubtnut.com/l/_Cb3LAY88Y5NF

218. Length of a rectangle exceeds its breadth
by 4 m. If the perimeter of the rectangle is 84

m, find its length and breadth.

° Watch Video Solution



https://dl.doubtnut.com/l/_yxJmlJXVSmMc



https://dl.doubtnut.com/l/_yxJmlJXVSmMc

